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> read "EFE" : read "SFE" :read "fids" :read "Seneqs80" :
[ >
(> eq[75] = (3% p'2/Psi*2 + 1/3) *theta®2 + 1/2*mu +3/2%p=0:T(%);
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(> eq[72]: T(%);
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(> eq[73]: T(%);
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> templ = expand(TEDS(isolate(eq[73], p""), eq[72])) : T(%);
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=> temp2 = (lhs(templ) — rhs(templ)) =0:T(%);

3 p
= = - 1.4
+5 1.4)

_+_

2 2
3p'39 1 p'® —2p’0)2— 2p'®
gt 3 ¢

(1.5)




l @PU 30 PUP* 1 ou 1 op 3opiu
3 - 3 ut, 3 -
wtp W (u+p) L+p Wty W (u+p)

2 2
30)p'2p + 20 PUp"

P (utp) ¥ (up)

6- TEDS(PUZ mu + p, expand(‘P4-temp2) )
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> temp3 = collect[expand[ : T(%);
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[ > convert(temp3, string);
"(3*'p""2/Psi*2+1/3)*theta™2 +1/2*mu+3/2*p = 0" (1.7)
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